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Ruby OZ 1L
Ruby development

SEDN DM ZIRET S
Someone propose something

v

matz D IFTANS
matz accepts

v
*Eib\j:ﬂw ‘)S;h,%)
It is merged into Ruby




YARV

ko1 A* YARV %1% 9 3%
ko1 propose YARV

v

matz Bz IFAND
matz accepts

v

YARV DR
YARYV is merged

INs
into Ruby
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Assumption

H7187=lE Ruby I
Nmh a5

You have requests
for Ruby
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Problem

NmafBiRI D12D
Ruby #Z 2. 5|Cl&
matz Z&i{5 9 5
WE DD

You must persuade
matz.



YARV

e Ruby [FEL
Ruby is slow

* YARV =95 E&ELRS
YARV makes Ruby fast

* Ruby DNEWNEFEH

It is happy if Ruby is fast
RERSHHYPT LD
RE LA 857
Speed is easy to understand.
But how others?




INT LIR—MME@EY P g L
Bug reports are easy
e FHHEMIZE LT ERY  * Someissue is clearly a bug

_ SEGV - SEGV
ot R A R - Difference between
- R e implementation and
¥ documents
e BIHD[RE/RZREAT D + Reproducible bug report
- SEGV ¥33—KN - code for SEGV
- 2FEIAEIER - example of run
= . « Don't overrequest
» REFABRELAW )
. . - fix by possibly wrong
— B CcEDWEBIED assumption

FatAN =4 BrA A
ZEMICTES Be objective



FTTREE  TRBER B
New feature / Change behavior
o NTLIR—FLYIZEELLY
Difficult than bug reports
o ZRHRZTOEIRRII AN
What is the motivation?

o IEINTFRREKITELIH?
|s the solution is appropriate?

« TOMDER
Other issues

- —&M  consistency
- ZBIBE naming problem



LB A B A
Various problems

stacktrace MEHF N B INTIHFHRA EY AL
skip in stacktrace

771 ILDSHEXT /S AT require L7=L
require a file in relative path

=TI T AL IR TERW
redirects portably

Jo78vF7 1/0 =FEIZEL L
non-blocking |/O

JAvIDIYvIN—=ZEE-LN
block wrapper




{5]: stacktrace DEHRHBIEINS

skip in stacktrace

% ruby 1 8.6 -e 'def x() y end; def y() x end; X'
-e:1:in "x" stack Ievel too deep (SystemStackError)

from -e:1:in 'y
from -e:1:in "X
from -e:1:in 'y
from -e:1:in "X
from -e:1:in 'y
from -e:1:in "X
iAW
from o1 ¥ & th DB A AL

B 7211 Ievels . skipped
from -e:1:in x BRI AN EL HD

from -e:1:in 'y 1 .
from -e-1-in *x’ some don't like the skip

from -e:]
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Many Challenges

2002-11-17

ru
2003-07-03 |
2003-1
2003-1
2003-7
2004-1
2005-1
2005-1
2006-04-05 [ru

2007-06-17 [ru

ru

1-06 [ru

1-19 [ru
1-26 [
0-10 [ru

0-06 [ru

1-05 [ru

ru

Oy-ta
Oy-ta
Oy-ta

k:56054] Tom Clarke

k:75008]

K:84751]

Nigel Gilbert
Dmitry Borodaenko

oy-list:38810] usa

oy-ta
Oy-ta
Oy-ta

K:86343] T
k:115962

k:159209]

obias Peters
Alexey Verkhovsky

Eric Mahurin

oy-core:6572] Hugh Sasse
oy-talk:187642] Sylvain Joyeux

by-dev:31014] akr (ZE KIS succeed)
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[ruby-list:38811] Typlcal Response (1)

EWIDITT.ZD/NYIRNL—ADRTFTEHA. BEETIERL,
AV TNDETEFICIEETIZAVY—TT—ADBRLLDTE S,
WDINDSTL&LD?

begin
foo

rescue => e
cb = e.backtrace
print cb.shift, ":", e.message, "¥n"
cb.each{|c| print "¥tfrom ", ¢, "¥n"}
exit 1

end

ETETNIEWKSTERIRTIDEEDIDTIN,. EFNTIILED
EWDTE?
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Typical Response (2)

[ruby-talk:86352]

Is there a way to tell ruby that it must never skip levels in the
|backtrace like this:

begin
foo

rescue => e
cb = e.backtrace
print cb.shift, ":", e.message, "¥n"
cb.each{|c| print "¥tfrom ", ¢, "¥n"}
exit 1

end

matz.



IREINI-WAWALRERTE (1)
Various Solutions Proposed (1)

« B THRIRTHI—REELC (matz)
Show it yourself (matz)
« TRACE_HEAD, TRACE_TAIL ZZ Z T/ )L

Change TRACE_HEAD and TRACE_TAIL then
recompile

« CFLAGS T -DTRACE_TAIL=40
-DTRACE_HEAD=20 & TZ5%&LDICT 5
Make them specifiable in CFLAGS

« ExceptionMIZAXYY RTITH %R E
New class method of Exception to set them




IREINTWBWBLRERE (2)
Various Solutions Proposed (2)
¢« 2 TCRIRIDHFBRIAVVRSAVA T avaEES

New command line option

e -d, W D DWVWTWbE2TERR
Don't skip if -d or -w

e “/.rubyrc ZEALTEITEHRE
Introduce ~/.rubyrc

» SystemStackErrorL S Tl £ TE& T (akr)
Skip only if SystemStackError (akr)




SystemStackError LA TIEE£ TR
Skip only if SystemStackError

ZIFANLN/-IEH Whyitis accepted

« BIOENZEELTWS
It respects the intent of the skip
SystemStackError 57U RTES
stacktrace is too long if SystemStackError

« EREMNAL No configuration is good configuration
)\Fa'ﬂ@ilﬂb\,\a_t%*ix%G’E Al %

It estimates programmer's expects

e #RVIRLIEYVIRLIEYIRLERAH TS
The request is repeated
ML CeaEN 7 8Oz~ L
| showed the 8.
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Other proposals
T AN/
Why they are not accepted

« BREDN DD
Configuration

- DS AAXYYRN Class method
- AR VRZAV AT 3y Command line option
« FADKRIITES 00 big issue

- “/orubyrc BEENHYTIZEEMELSSL
It may have many problems



RITANONPTWESR (KE)

Good Proposals

 MEMNINETES necessity
- BAMICE@EDL HBEETRT real problem
- WAARUVEDRE>TWS many peple faced
- AT EEHNDEL EICEWL complexity problem

o BERERNTZ Y appropriate solution
- NEIDHFZ YA T S estimate expection
- BIfER D D7V less side effects
- BEHNNHIE small change
- POSIX » CESEBAHALTWS POSIX, C

- Perl " FEHLTW3 Perl




ZITANSNITKVWRE (RE)

Bad proposals

o MEBMEAIFTIRL unnecessary
2N SN S AN OV s YA B unclear problem
- KALUADHE>TWBDHIEEDLLLY  only one man
- PRI ZTYLARVWEREIL unclear speedup

« FRREMEEDLL suspicious solution
- NBEIDHAFICE unexpected behavior
- iR REIES many side effects

- ZEHMNKEE (7/.rubyre, Indexer) big change
- 47 (C %0 Perl EIXEMD) fRRE unique



ZITANLNPTWVRE (RELUN)
Good Proposals

c AREMRICN T SHIERE development version
- 1.9

e J)—ZDMERITHLY not just before a release

o RETAEKRMNADSTLAL  minimal request




ZITANSINITKWVRE (RS

LTEMRICT T IR stable version
- 1.8

))) —XDEH] just before a release
- JLEa—hHiEE when preview release
RETRERHDA>TWS not minimal

- Random & srand (@& bHt) tie-in sale



ST AN NI W ERE TR DA
Example of Bad Proposal

% ruby 1 8.6 -e 'def x() y end; def y() x end; X'
-e:1:in "x": stack Ievel too deep (SystemStackError)

from -e:1:in 'y
from -e:1:in "X
from-e:1:in 'y
from -e:1:in "X
from -e:1:in 'y
from -e:1:in "X
from e:' [in ‘y'
from -e:1:in "X
B .. 7211 Ievels
from -e:1:in "X
from-e:1:in 'y
from -e:1:in "X

from -e:]

RF

D BERD L

skipped

aPANR

BRI IE /<KW EDLHD
some don't like the skip



©o EIRERI B 7ZED

Use practical example

test condvar_wait_not_owner(TC_Thread): .
test_local_barrier(TC_Thread): /I|b/t|meout rb:54:in “sysread":
execution explred (Timeout::Error)

from ./lib/net/protocol.rb:133:in "rbuf_fill’

from ./lib/timeout.rb:56:in "timeout'

from ./lib/timeout.rb:76:in "timeout'

from ./lib/net/protocol.rb:132:in ‘rbuf_ﬁll'

from ./lib/net/protocol.rb:116:in "readuntil’

from ./lib/net/protocol.rb:126:in "readline’

from ./lib/net/http.rb:2020:in "read_status_line'

from ./lib/net/http.rb:2009:in "read_new'

. 26 levels...

from Jlib/test/unit/ui/testrunnerutilities. rb 29 in “run

from ./lib/test/unit/autorunner.rb:216:in "run’

from ./lib/test/unit/autorunner.rb:12:in "run’

from ./test/runner.rb:7
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- Hifa

l|‘/_':

ll‘/_':
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FDMHDER
Other issues

consistecy

naming problem
compatibility
face-to-face request
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Consistency

—E %3 Ruby D BEZTIE AL
Consistency is not a goal of Ruby

- SRIEMEICARBZEEHSD may be good reason

- M EHIRLIEWIEEHD m
ERRICIZICIL DR SR B MR
- % REM polymorphism

ay be bad reason
good if useful

Ox3fffffff.div(2.0) & 0x40000001.div(2.0)

—BULYELEFRTHDIEDE

Usefulness is important than

5 &b
= 2L
consistency

- obj.m D’AVYRAT IV MN2IRT LDITRBH?
obj.m doesn't return an method object.



AR fERE
Naming Problem

o MEBEICIIBIRBAVDICKBINRESLRWEITANERT
T AN LN

Rejected just because no good name

I3

- readpartial
- read_nonblock

o SEREANTAHILUICTRARIIZAREINIIABALIFEIEED
"good name is the last problem" for each time when
some requests

VA

» ruby-core, ruby-talk T{TAIEREE native DVED A
A WA C DY g%
English native speakers will comments if ruby-core
and ruby-talk.



H #aE
Compatibility

TR BE M RDARL

Perfect compatibility is not required

B CTRIAFICOFULKIED AR L
Simple solution is better

RHINGEAZMLIT5 &b E
Short term compatibility problem may needs
some workarounds.




SYHE TS D

Face to face requests

e Ruby&iEENT matz ICE>TENRS
Ask matz at RubyConf, etc.

e ITALDND,

SIS C Y (e

You can get some response

e LUV oIEXYEEL LY
Difficult problems are still difficult



strftime T/NISRLLTF
strftime and fraction

TimexA 7Yz MIusecExEHFE>TWLWETH,

S DstritimeDEXFEE X FH TldusecHy
IYMHSERYEEFEFEA,

Although Time objects has usec,

current strftime format cannot extract usec
or milli seconds.

[ruby-dev:34978]



IREDMEE R
Problems of the proposal
¢« EIVOHRTHLLODOMNEWNTALY  No usage

- EDVOH AL VLD Output format
- 3M1? 611? MIEIEE? 3-digits, 6-digits or ...
- FRIMTD 0 13 EHTB? lower zeros?

¢ 1.8 ZXHRELTWVWS targets 1.8

1.9 7365 usec (W17 0O0)TlE7< nsec (/)
» C D strftime (M BLILH K7L difference
WOLDICTNIE CEEL>TLED to C
RBIC %X 2 RDBHEFFKNICHEFTRTHHE
It may conflicts if original %X is introduced
« 2EET C D strftime AFZ22H? impl?




FTTAREZE YA
ﬁh’é‘tatt“ o> TLWBH

« C E:&

|
- strftime (& time_t ZF ITERBZ DTN R LL T IZIR A
AW don't use fraction
e Perl
- POSIX 2 a2—)LD strftime (/N ELL T IS (FEY
YA W don't use fraciton
e Python
- time EYa2—)L D strftime (&/MNUELLTIE=ZFELS
78 LN don't use fraction

CDstrtimesZE T DIESEITIRBLIRLN
C like lang. don't use fraction



* IRC TIRHRIREIHYFE L
H) 75\&'); X \z\ij

takesako XA EK:

— . PerlCEDateTimeE®Y 2— )L TUNEEFZFT
http://search.cpan.org/dist/DateTime/lib/DateTime.pm#strftime_Patterns




H—~A (2)

« GNU date

- %N T F7/% (000000000..999999999)

- % date +%N
298688729

 Java (java.util.Formatter)
- %L TX# (000 - 999)
- %N TF/# (000000000 - 999999999)
e CHICEHD(HARY L DateTime E2RI5ELFF)
- strftime SIFEXIBEIIED?
- fffff EDMEELC f DR



FYUBWRE

« HR%ZES Describe usage

- %N DBEYILRRRIEEETHERW (BAENRDITS)
Usage for %N is desired (Find it)

« %N %1293 Propose %N

- GNU date T% Java THFE->TWS
GNU date and Java use it

« INEWIIEETEBIEARRT  practical impl.
~ missing/strftime.c Z80GE?
- % TRDYPYICLTI73— v L TH SEHE?
- FAEINIKT BRLIERE

- locale & strftime EWOEEEAEBIDTHXYZEZ W
[ruby-talk:216305] [ruby-talk:286696]




WOELFTZELGRFEIETIAW
Not always perfect

« KRR Big change
- spawn CY&F ML U KaE  spawn and redirects
- stdio HEfR stdio-less 10
- YARV YARV
o MRYFIREERIE unique solution
- readpartial

- read_nonblock
- Regexp#to_s
- NotImplementedError 7 X/v K& respond_to?

s TNTEARRIEYRWERZIEVYCTLOICTS
Try better proposal anyway
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« FHiZEZELS o FRIRIRZEELIRLIRD
Describe usage NEEZHBREDICT S
. ESFEIMEEL Describe appropriate

. solution if a solution
o IRATHERLWLNDOMEL is described

o« EHBITIIDDOHMEL
o IMATILERDMEL

« CORIREERERATES
D MhEL

e MATELWLWOHMNEL
o FOHFEHLDMEL



